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Build the 8 times table. Draw dots where the lines meet.
Count the dots to write the product.
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2x8=16 .

3x8=24 Q

4x8=13)
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ENRICHMENT ACTIVITY
Write the missing factors. De tn bOOK and Co P\\/ *

L _5 x5=25 z%w.‘_éx2=12 T =36
2 5 x7=35 [u _10 x1=10 |n 4x_10 -4g
3._L:):X8=40 5:12._8_><7=56 | :
4 & x6=42 1 Sx_3 =15
S eVD  x3 =130 ;14.7><ﬁ_=63
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7. _ R x9=81 |1 8x_6 =43
8._ixz=.l8 §17. 9x < =18
o x7=49 Iis. 4x _4 =16
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Multiplying by 9
. _ ob
Build the 9 times table. Draw dots where the s poﬁ:::v:n;h:ill

T | 1 | axazg | B+ L=9
g x40 94 + 0 =

lines meet. Count the dots to write the product. 4" »f in the blanks.
. 1 x9=9

..- L 2x9=18 |1 +8 -9
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A. Write the product.

L 2x8=_16 6. 9x9=_&1 ;o m3x7 =2
2. 4x9=_2h L o 8x7=_Ek6 L 12.8x2 =14

L 7x7= 48 | s S5x8=AO0 3 2x7 =_l%

i 8x6=4% | e 2x6=_1% 1410 %5 =50
c6xs— 20 | w9x4-_36 s lox10=_100

B. Look at the patterns and complete them.

14,812, V6 , 20 , 24 sz, 15,18 2 34 %
2. 5,10, 15, 20 15 30 -6123__L_:»__§_
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